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Ql. In the given figure find the angle of
A LABC.

-

-0 fReIe A7 A LABC &1 ATA SATd HifAe)
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oY -y

I5x = 3(?‘-!2 +lox -1y
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Q2. In the given figure, what is the value of
LIV L24L34L4+L5=7?
4t 918 anpfa A, £1+22+,3+ 24+ 25 BT AT &

22
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Q3. In the given figure, «.BAC = 70°, £ACB =
45° and 4DEA = 140°. What is the value of
2BDE?

dt 91 amepfad &, LBAC = 70°, LACB = 45° @
/DEA = 140° | 2zBDE &1 ATl T 2

(A) 10° (B) 15°

Q
\ @
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Q4. In the given figure, EF = CE = CA, What is
the value of LEAC ?

at g A EF=CE=CA¢E dl ZEAC &I
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Q5. In a given figure, If AD = DE = EC = BC
thenzZA:42B="7?

fRese A fRadAafe AD=DE=EC =BCc @ dl
¢A : 2B BT AT T ZIT?

Wia s

GER (D)1:2

B - e
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Q6. 2 sides of triangle are of 4 cm and 10 cm.
If 3rd side is length of '‘a’ cm then which is

correct value for a.

v R &6t a1 afene 4 At qam 10 At Fat

¢l dgeiare afe &1 Saars ‘o' Jet. A,
maﬁﬁa—mm%? :

(A)a>5 (B)6<ac12
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A

Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following

is correct?

fAe(c1 ABC & 3iqe I3 fdog ¢, dl fassr & &
A BlAAT PAATAAE ?
\ﬁg (2(0A+oa+o)c)(> (AB + BC+C)A)
o)l IBa OA+ OB +0C) < (AB + BC + CA
(Ao} Y e 4C) 2(AB+BC + CA) > (OA + OB + OC)
@l tHed > A= (D) (AB+BC + CA) > (OA+ OB + OC)

X(Ro+80+C0) > AR} Ac+Re
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the

following is correct?

ABCD U dqafd g 3fi2 AC daT BD 38& @l
fawuf g, ol fAest # & BiaTd HAA T 22

(A) (AB+BC+ CD + DA) > (AC + BD)

(B) (AB+BC+ CD + DA) < 2(AC + BD)

(c) BothAandB /3G A 32 B

(D) None of these [ 31 & I3 olal
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1aq+b‘l>c2')

Q9. The 3 sides of an acute angled triangle

— \9."1'& are 15,17 and x cm. if x is an integer then

s, 17, x| how many such trian%es are possible ?

N 5%\ o> Tl ogat BivT 3 diat ofwire 15 &dt, 17
s+t (3% At 3 x At €131 x v Yuifes & af e fasaat
A5 +x> > 289 |RA+28 ) 2 fRoA Hara 2

x* 2

(c) 29 (D) 15
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aZf+ b’ >C"7 Q10. If the perimeter of a triangle with
‘ . integer sides is 32, what is the largest
possible length of the longest side?

a + b - afe fadabt 3 a1’ R a3{a1 &1 ufRaATy 32
reT e %H’t@ﬁﬁajﬂ%{gﬁaﬁmﬁ%m:’

ath > @6
(

MJ > :; c)17 ’/\ (D) 18
LJ ®

7
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Axb = 2y QI2. If a and b are the lengths of two sides of
a triangle such that the product ab = 24,

where a and b are integers, the how many
Ix2bU | 2R |3x8 |yxc  such triangles are possible?

af2 a 3z b faseft fAage &t &t oTe 531 bre
oZ*/\l:-l i&x.z_' A3 | Qg ﬁ;ab=24,ma bmnga}m

R o o £

(A)12 (B) 18

,WM e
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2 P 2

a2 +b >C Q13. Which of the following represents the
sides of an acute angled triangle?

s & @ Hiadl, Th a1 R &Hi
afIT3il 1 gerfar g2 e i

C\
—7 /& ) |10 o L'q_'_c\r> | 0o (A)-GI—&—* (B) 7, 8, 10

<[l 13> 10 [(C) 5,12,13 l (D) None of these
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[a2+t2>clj

15 [x]

Q14. Two sides of a triangle are 12cm and 15
cm long and the third side is integer, then
what is the largest value of third side for
which tri- an Ie Is acute.

fbadft 2 3fwATC 12 Af. q2ar 15 At 2

Uasq;mfas g at diadt s w1 aE
mfﬂm;jgm mﬁiﬁaﬁ%

(A)17 (B) 18

(©)10
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Q15. Which of the following combination of
sides results in the formation of obtuse

angled triangle?
DIl A & IS H sl &
fAsifafaa daloie A Sliaar ddloie dal & ?

(A) 6,7,13 (B)S5,6,8

(c)4,5,6 (D) None of these




